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QUESTION 1

A developer is analyzing an existing Web service with performance problems. The analysis reveals the service employs
SOAP over HTTP. When the size of the encoded binary files grew with changing business requirements, the service
slowed. What are two effective solutions for this problem? (Choose two.)

A. Separating the XML and binary content with WS-Filtering implemented in WSIT will improve efficiency.

B. XML documents larger than 1 KB with binary encoding should be optimized.

C. WS-Addressing can ease congestion by routing messages over other protocols.

D. For existing services, the most effective solution is to increase the available bandwidth.

E. MTOM can reduce both processing and bandwidth required by SOAP with attachments.

Correct Answer: BE

QUESTION 2

According to the WS-I Basic Profile 1.1, which two statements are true about the targetNamespace attribute for
xsd:schema elements that are children of WSDL 1.1 type element? (Choose two.)

A. Its value must be valid unless it has xsd:import, xsd:annotation, or both as its only child elements.

B. Its value must be empty unless it has xsd:import, xsd:annotation, or both as its only child elements.

C. It should have same the value as the namespace attribute on the wsdl:import element in a document being imported.
D. It must have same the value as the namespace attribute on the wsdl:import element in a document being imported.

Correct Answer: AD

QUESTION 3

Given:

1.
@WebService(name="Loglnventory")
2.

public class InventoryReader {

3.
@WebMethod(operationName=check)

4,
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@OneWay

5.

public void checkProduct(String name);

6.

@WebMethod

7.

public void addInventory(

8.

@WebParam(name="total") int quantity)

9.

throws InventoryException;

10.

}

Assume the code is free of gross flaws and syntax errors.

Which two statements are true? (Choose two.)

A. Line 8 specifies that addinventory accepts either a valid total or quantity.

B. Line 1 indicates the portType is Logininventory.

C. Line 3 shows the method is mapped to the WSDL operation called checkProduct.
D. Line 4 means that a method is not expected to return a value unless requested.
E. Line 6 implies WSDL operation and method name are the same.

Correct Answer: BE

QUESTION 4

A developer plans to refactor some of the company\\'s existing Java EE 5 business services, moving them out of the
existing monolithic application and into Web services. What are two benefits of exposing existing Java EE 5 functionality
as a Web service? (Choose two.)

A. improved manageability

B. more finely-grained

C. enhanced security

D. loose coupling of functionality
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E. self-describing
F. automatic session management

Correct Answer: DE

QUESTION 5
Given the Java fragment and schema:

1.

//-- Java code fragment

2.

public class PurchaseOrder{

3.

public javax.xml.datatype.XMLGregorianCalendar orderDate;
4.

}

5.

//-- Schema fragment

6.

10.

11.

Which two statements are true about .Net and WCF interoperability for this data? (Choose two.)
A. The GregorianCalendar maps to an equivalent date type in both Java and .Net.

B. .Net will generate code with the calendar as a string that functions as well as a date.
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C. .Net will generate code with the calendar as a string that is not type equivalent.
D. Use of the @XmISchemaType annotation causes .Net to properly map to a date.

E. Casting in the case of WSIT services is an effective approach for the WCF client.

Correct Answer: CD
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